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SECONDARY SCHOOL EXAMINATION-2023  (ANNUAL) 

ECONOMICS (OPT) 

  

Time: 3Hours 15 Minutes               

Full Marks

Total No. of Questions - 

Instructions for the candidates :-

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk dzekad ¼10 vadks dk ½ vo’; fy[ka sA 

Candidates must enter his / her Question Booklet Serial No. (10 Digits) in 

the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in own words as far as 

practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to read the 

questions carefully. 

 ;g iz’u&i= nks [k.Mksa esa gS] 

This question booklet is divided into two sections: Section-A, Section-B.

6-  [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsaA izR;sd Ikz’u ds 

fy, 1 vad fu/kkZfjr gSA buds lgh fodYi dks miyC/k djk;s x, OMR 'khV esa fn, x, 

fodYi dks uhys @dkys ckWy isu ls izxk<+ djsaA 50 iz’uksa ls vf/kd iz’uksa dk mÙkj nsus dh 

fLFkfr esa izFke 50 iz’uksa dk gh ewY;kadu fd;k tk,xkA fdlh Hkh izdkj ds OgkbVuj@rjy 

Subject Code:- 116 
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inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk 

ifj.kke vekU; gksxkA½ 

In Section A, there are 100 Objective Type Questions, out of which any 50 

questions are to be answered. Each question carries 1 mark. For answering 

these darken the circle with blue/ black ball pen against the correct option 

on OMR sheet provided to you. If more than 50 questions are answered, 

only first 50 answers will be evaluated. Do not use Whitener / Liquid / Blade 

/ Nail on OMR Sheet, otherwise the result will be treated invalid. 

7- [k.M& c esa 30 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa ds mÙkj nsuk vfuok;Z gSA 

izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 8 nh?kZ mÙkjh; iz’u 

Hkh fn, x, gSa] ftuesa ls fdUgha 4 iz’uksa dk mÙkj nsuk vfuok;Z gSA izR;sd iz’u ds fy, 5 

vad fu/kkZfjr gSaA 

In section-B, there are 30 Short Answer Type Questions, Out of which any 

15 questions are to be answered. Each question carries 2 marks. Apart from 

these, there are 8 Long Answer Type Questions, out of which any 4 

questions are to be answered. Each question carries 5 marks.  

8- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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SECTION - A 

Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR ’khV ij fpfUgr djsaA fdaUgh 50 iz’uksa ds 

mrj nsaA           [50x1=50] 

Question Nos. 1 to 100 have four options, out of which only one is correct. You 

have to mark your selected option, on the OMR Sheet. Answer any 50 questions. 

          [50x1=50] 

1- buesa ls fdl en dks iwathxr izkfIr esa 'kkfey fd;k tkrk gS \ 

 (A) vkUrfjd ,oa cká _.k   (B) y?kq cprsa 

 (C) lkoZtfud miØeksa esa fofuos’k  (B) lkoZtfud miØeksa ls vk; 

 Which of these is included in capital receipt ? 

 (A) Internal and external loans  

(B) Small savings 

 (C) Disinvestment in public sector undertakings  

 (D) Income from Public sector undertakings 

2- uhfr vk;ksx dk xBu dc gqvk \ 

 (A) 1 tuojh 2014    (B) 1 tuojh 2015 

 (C) 1 tuojh 2016    (D) 1 tuojh 2017 

 When was NITI Aayog formed ? 
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 (A) 1st January 2014   (B) 1st January 2015 

 (C) 1st January 2016   (D) 1st January 2017 

3- jsyos fdl izdkj dk lkoZtfud m|e gS \ 

 (A) lkoZtfud fuxe    (B) ljdkjh daiuh 

 (C) foHkkxh; miØe    (D) buesa ls dksbZ ugha 

 What type of public enterprise is railways ? 

 (A) Public Corporation   (B) Government Company 

 (C) Departmental Undertaking (D) None of these 

4- buesa ls fdl iapo"khZ; ;kstuk dk mís’; xjhch mUewyu Fkk \ 

 (A) igyh     (B) nwljh 

 (C) ikapoha     (D) NBh 

 The objective of which five year plan was poverty alleviation ? 

 (A) First     (B) Second 

 (C) Fifth     (D) Sixth 

5- buesa ls D;k jktdks"kh; uhfr dk midj.k ugha gS \ 

 (A) lkoZtfud O;;    (B) [kqys cktkj dh fØ;k,¡ 

 (C) lkoZtfud _.k    (D) djk/kku 

 Which of these is not an instrument of Fiscal Policy ? 

 (A) Public expenditure   (B) Open market operations 

 (C) Public debt    (D) Taxation 

6- Hkkjr us fdl ns’k dk ;kstuk ekWMy viuk;k \ 
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 (A) la;qDr jkT; vesfjdk   (B) vkWLVªsfy;k 

 (C) iwoZ lksfo;r la?k    (D) xzsV fczVsu 

 India adopted the planning model of which country ? 

 (A) United States of America  (B) Australia 

 (C) Former Soviet Union  (D) Great Britain 

7- jk"Vªh; fodkl ifj"kn~ ds v/;{k buesa ls dkSu gSa \ 

 (A) jk"Vªifr     (B) iz/kkuea=h 

 (C) jkT;iky     (D) mi&jk"Vªifr 

 Who among the following is the Chairman of the National Development 

Council ? 

 (A) President    (B) Prime Minister 

 (C) Governor    (D) Vice President 

8- tux.kuk 2011 ds vuqlkj lokZf/kd tula[;k ?kuRo okyk jkT; dkSu gS \ 

 (A) fcgkj     (B) if’pe caxky 

 (C) egkjk"Vª     (D) xksok 

 Which State has the highest population density as per census 2011 ? 

 (A) Bihar     (B) West Bengal 

 (C) Maharashtra    (D) Goa 

9- tukafddh ifjorZu fl)kar buesa ls fduds chp ds laca/k dk v/;;u djrk gS \ 

 (A) vkfFkZd fodkl vkSj csjkstxkjh  (B) tula[;k òf) vkSj i;kZoj.k 

 (C) vkfFkZd fodkl vkSj tual[;k òf) (D) vkfFkZd fodkl vkSj xjhch 
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 Demographic Transition Theory studies the relationship between which of 

the following – 

(A) Economic development and unemployment 

(B) Population growth and environment 

(C) Economic development and population growth 

(D) Economic development and Poverty 

10- buesa ls fdl lfefr dk laca/k xjhch js[kk ls gS \ 

 (A) rsanqydj lfefr    (B) oekZ lfefr 

 (C) ujflage lfefr    (D) psyS;k lfefr 

Poverty line is related to which of these committee ? 

(A) Tendulkar Committee  (B) Verma Committee 

(C) Narasimham Committee  (D) Chelaiya Committee 

11- xzkeh.k {ks= ds O;fDr;ksa ds fy, izfrfnu dSyksjh dh fu/kkZfjr ek=k fdruh gS \ 

 (A) 2400     (B) 2100 

 (C) 2300     (D) 2200 

What is the prescribed amount of calories per day for the people of rural 

area ? 

(A) 2400     (B) 2100 

 (C) 2300     (D) 2200 

12- Lo.kZ t;Urh xzke Lojkstxkj ;kstuk dc izkjaHk dh xbZ \ 

 (A) vizSy 1983    (B) vizSy 1999 
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 (C) vxLr 2000    (D) flrEcj 2001 

When was Swarna Jayanti Gram Swarozgar Yojana started ? 

(A) April 1983    (B) April 1999 

(C) August 2000    (D) September 2001 

13- lk[k fu;a=.k ds ekSfnzd mik;ksa dk lapkyu dkSu djrk gS \ 

 (A) Hkkjrh; fjtZo cSad   (B) foÙk ea=ky; 

 (C) ukckMZ     (D) buesa ls dksbZ ugha 

Who administers the monetary measures of credit control ? 

 (A) Reserve Bank of India  (B) Ministry of Finance  

 (C) NABARD    (D) None of these 

14- ewY; esa deh gksus ls Øsrkvksa dh la[;k esa D;k izHkko iM+rk gS \ 

 (A) la[;k esa òf)    (B) la[;k esa deh 

 (C) la[;k fLFkj jgrh gS   (D) buesa ls dksbZ ugha 

How does a decrease in price affect the number of buyers ? 

(A) Increase in number   (B) Decrease in number 

(C) The number remains constant (D) None of these 

15- :i;s ds izrhd fpà ^j* dh jpuk dgk¡ ds Nk= us dh \ 

 (A) tokgj yky ug# fo’ofo|ky; (B) jk"Vªh; izkS|ksfxdh laLFkku 

 (C) Hkkjrh; izkS|ksfxdh laLFkku  (D) fnYyh fo’ofo|ky; 

The symbol of Rupee ^j* is created by the student of – 

(A) Jawahar Lal Nehru University (B) National Institute of Technology 
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(C) Indian Insitute of Technology (D) Delhi University 

16- EXIM cSad dk eq[;ky; dgk¡ gS \ 

 (A) fnYyh     (B) eqEcbZ 

 (C) y[kuÅ     (D) dksydÙkk 

Where is the head quarter of EXIM Bank ? 

(A) Delhi     (B) Mumbai 

(C) Lucknow    (D) Kolkata 

17- iatkc us’kuy cSad esa fdl cSad dk foy; gqvk gS \ 

 (A) ;wfu;u cSad vkWQ bf.M;k  (B) lsUVªy cSad vkWQ bf.M;k 

 (C) bafM;u cSad    (D) ;wukbVsM cSad vkWQ bf.M;k 

 Which bank was merged with Punjab National Bank ? 

 (A) Union Bank of India  (B) Central Bank of India 

 (C) Indian Bank    (D) United Bank of India 

18- Hkkjrh; fjtoZ cSad dk jk"Vªh;dj.k dc gqvk \ 

 (A) 1935     (B) 1947 

 (C) 1949     (D) 1952 

 When was the Reserve Bank of India nationalized ? 

 (A) 1935     (B) 1947 

 (C) 1949     (D) 1952 

19- eqnzk fodkl Øe dk lgh vuqØe dkSu lk gS \ 

 (A) oLrq eqnzk] i= eqnzk] /kkrq eqnzk   
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(B) lk[k eqnzk] /kkrq eqnzk] i= eqnzk] oLrq eqnzk 

 (C) oLrq eqnzk] /kkrq eqnzk] i= eqnzk] lk[k eqnzk 

 (D) buesa ls dksbZ ugha 

 Which is the correct sequence of money evolution ? 

 (A) Commodity Money, Paper Money, Metallic Money 

 (B) Credit Money, Metallic Money, Paper Money, Commodity Money 

 (C) Commodity Money, Metallic Money, Paper Money, Credit Money 

 (D) None of these 

20- fizosa’ku vkWQ euh ykmfMªax ,DV dc ykxw gqvk \ 

 (A) 1999     (B) 2000 

 (C) 2002     (D) 2005 

 When was Prevention of Money Laundering Act implemented ? 

 (A) 1999     (B) 2000 

 (C) 2002     (D) 2005 

21- buesa ls fdl vkfFkZd fØ;k dks izkFkfed {ks= esa 'kkfey ugha djrs gSa \ 

 (A) i'kq ikyu     (B) [kuu 

 (C) lapkj      (D) d`f"k 

 Which of these economic activity is not included in Primary sector ? 

 (A) Animal husbandry   (B) Mining 

 (C) Communication   (D) Agriculture 

22- ekuo fodkl lwpdkad ¼HDI½ ds vuqlkj fdl ns’k dk jSad igyk gS \ 
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 (A) vkWLVªsfy;k     (B) ukosZ 

 (C) tkiku      (D) LohMu 

 Which country ranks first according to Human Development Index ? 

 (A) Australia    (B) Norway 

 (C) Japan     (D) Sweden 

23- dsUnzh; lkaf[;dh laxBu dk xBu dc gqvk \ 

 (A) 1954     (B) 1956 

 (C) 1960     (D) 1965 

 When was the Central Statistical Organization formed ? 

 (A) 1954     (B) 1956 

 (C) 1960     (D) 1965 

24- nknkHkkbZ ukSjksth us fdl iqLrd dks fy[kk \ 

 (A) fMLdojh vkWQ bf.M;k    

(B) ikWoVhZ bu bf.M;k 

 (C) ikWoVhZ ,.M vufczfV’k :y bu bf.M;k 

 (D) n vkbfM;k vkWQ tfLVl 

 Which book was written by Dadabhai Naoroji ? 

 (A) Discovery of India    

(B) Poverty in India 

 (C) Poverty and Unbritish Rule in India 

 (D) The Idea of Justice 
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25- izkFkfed lgdkjh lk[k lfefr fdl izdkj dk _.k miyC/k djkrh gS \ 

 (A) vYidkyhu    (B) nh?kZdkyhu 

 (C) (A) ,oa (B) nksuksa   (D) buesa ls dksbZ ugha 

 What type of loan is provided by the Primary Co-operative Credit Society ? 

 (A) Short-term    (B) Long-term 

 (C) (A) and (B) both   (D) None of these 

26- NksVs vkSj lhekUr fdlkuksa dh _.k vko’;drkvksa dks iwjk djus ds fy, dkSu lh laLFkk 

dke djrh gS \ 

 (A) ukckMZ     (B) {ks=h; xzkeh.k cSad 

 (C) egktu     (D) O;kikjh 

 Which organization works to meet the credit needs of small and marginal 

farmers ? 

 (A) NABARD    (B) Regional Rural Bank 

 (C) Money lender   (D) Trader 

27- Hkwfe fodkl cSad buesa ls fdu dk;ksZa ds fy, _.k nsrk gS \ 

 (A) df̀"k esa LFkk;h lq/kkj   (B) VªSDVj [kjhnuk 

 (C) iqjkus _.kksa dk Hkqxrku   (D) buesa ls lHkh 

 For which of these works the Land Development Bank gives loans ? 

 (A) Sustainable improvement in agriculture 

 (B) To buy tractor 

 (C) Repayment of old debts  
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 (D) All of these 

28- buesa ls dkSu lk {ks= lokZf/kd jkstxkj ds volj iznku djrk gS \ 

 (A) df̀"k {ks=     (B) vkS|ksfxd {ks= 

 (C) lsok {ks=     (D) buesa ls dksbZ ugha 

 Which sector provides maximum employment opportunities? 

 (A) Agriculture sector   (B) Industrial sector 

 (C) Service sector   (D) None of these 

29- tux.kuk 2011 ds vuqlkj lokZf/kd tula[;k okyk jkT; dkSu gS \ 

 (A) fcgkj     (B) egkjk"Vª 

(C) mÙkj izns’k    (D) jktLFkku 

Which is the most populous state according to Census 2011 ? 

(A) Bihar     (B) Maharashtra 

(C) Uttar Pradesh   (D) Rajasthan 

30- lapkj fdl vk/kkjHkwr lajpuk dk va’k gS \ 

 (A) vkfFkZd vk/kkjHkwr lajpuk  (B) xSj&vkfFkZd vk/kkjHkwr lajpuk  

 (C) (A) ,oa (B) nksuksa   (D) buesa ls dksbZ ugha 

 Communication is a part of which infrastructure ? 

 (A) Economic Infrastructure  (B) Non-economic infrastructure 

 (C) (A) and (B) both   (D) None of these 

31- ubZ vkfFkZd uhfr 1991 ds le; Hkkjr ds foÙk ea=h dkSu Fks \ 

 (A) ih0 fpnacje    (B) iz.ko eq[kthZ 
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 (C) eueksgu flag    (D) v:.k tsVyh 

 Who was the Finance Minister of India at the time of New Economic Policy 

1991 ? 

 (A) P. Chidambaram   (B) Pranav Mukharjee 

 (C) Manmohan Singh   (D) Arun Jaitley 

32- buesa ls D;k WTO dk fgLlk ugh gS \ 

 (A) GATT 1947    (B) GATT 1995 

(C) GATS     (D) TRIPS 

Which of these is not a part of WTO ? 

(A) GATT 1947    (B) GATT 1995 

(C) GATS     (D) TRIPS 

33- fuEu esa ls fdl LFkku ij ,f’k;k dk igyk fu;kZr izlaLdj.k {ks= LFkkfir fd;k x;k Fkk\ 

 (A) dkaMyk     (B) dksphu  

 (C) lwjr     (D) lkarkØwt 

 At which place Asia’s first Export Processing Zone (EPZ) was set up?  

(A) Kandla     (B) Cochin 

(C) Surat     (D) Santa Cruz 

34- buesa ls dkSu lk laxBu fu;kZr ds fy, fofHkUu tksf[keksa ds f[kykQ chek iznku djrk gS \ 

 (A) Hkkjrh; fjtoZ cSad   (B) EXIM cSad 

 (C) LVsV VªsfMax dkWjiksjs’ku vkWQ bafM;k (D) buesa ls dksbZ ugha 
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 Which of these organization is involved in providing the insurance against 

various risks to the export ? 

(A) Reserve Bank of Inida   

(B) EXIM Bank 

(C) State Trading Corporation of India 

(D) None of these 

35- buesa ls fdldk ikfjJfed yxku gS \ 

 (A) Je     (B) iw¡th 

 (C) Hkwfe     (D) laxBu 

 Rent is the remuneration of which of these ? 

(A) Labour     (B) Capital 

(C) Land     (D) Organization 

36- dikl fdl izdkj dh Qly gS \ 

 (A) jch     (B) [kjhQ 

 (C) tk;n     (D) buesa ls dksbZ ugha 

 What type of crop is cotton ? 

 (A) Rabi     (B) Kharif 

 (C) Zaid     (D) None of these  

37- buesa ls D;k mRiknu dk lk/ku gS \ 

 (A) forj.k     (B) fofue; 

 (C) Je     (D) miHkksx 
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 Which of the following is a means of production ? 

 (A) Distribution    (B) Exchange 

 (C) Labour     (D) Consumption 

38- buesa ls D;k [kjhQ Qly gS \ 

 (A) puk     (B) ljlksa 

 (C) xsgw¡     (D) lks;kchu 

 Which of these is a Kharif crop ? 

 (A) Gram     (B) Mustard 

 (C) Wheat     (D) Soyabean  

39 fdl vFkZO;oLFkk esa dher rU= ds vk/kkj ij fu.kZ; fy, tkrs gSa \ 

 (A) iw¡thoknh     (B) lektoknh 

 (C) fefJr     (D) lkE;oknh 

 In which economy decisions are taken on the basis of Price Mechanism ? 

 (A) Capitalist    (B) Socialist 

 (C) Mixed     (D) Communist 

40- jk"Vªh; vk; ds vkdyu esa fdlh oLrq ;k lsok dk ewY; ,d ls vf/kd ckj 'kkfey djuk 

dgykrk gS & 

 (A) ,dy x.kuk    (B) nksgjh x.kuk 

 (C) cgqy x.kuk    (D) buesa ls dksbZ ugha 

 The inclusion of the value of a good or service more than once in the 

calculation of national income is called – 
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 (A) Single Counting   (B) Double Counting  

 (C) Multiple Counting   (D) None of these 

41- 1991 dh ,y0 ih0 th0 ¼LPG½ uhfr esa ih0 dk D;k vFkZ gS \ 

 (A) isVsaV     (B) mnkjhdj.k 

 (C) futhdj.k    (D) izfr’kr 

 What does P stand for in LPG Policy of 1991 ? 

 (A) Patent     (B) Liberalization 

 (C) Privatization    (D) Percentage  

42- 1969 esa fdrus okf.kfT;d cSad dk jk"Vªh;dj.k fd;k x;k Fkk \ 

 (A) 16     (B) 14 

 (C) 15     (D) 6  

 How many Commercial Banks were nationalized in 1969 ? 

 (A) 16     (B) 14 

 (C) 15     (D) 6  

43- Hkkjr esa eqnzk LQhfr dks ekik tkrk gS & 

 (A) Fkksd ewY; lwpdkad }kjk   (B) miHkksDrk ewY; lwpdkad }kjk 

 (C) jk"Vªh; vk; }kjk    (D) izfr O;fDr vk; }kjk 

 In India, Inflation is measured by – 

 (A) Wholesale Price Index  (B) Consumer Price Index 

 (C) National Income   (D) Per Capita Income  
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44- buesa ls D;k vYidkyhu foÙk dh le;kof/k gS \ 

 (A) 1 & 2 lky    (B) 1 & 12 ekl 

 (C) 1 & 3 lky    (D) 1 & 18 ekl 

 Which of these is a time period of Short-term finance ? 

 (A) 1 – 2 years    (B) 1 – 12 months 

 (C) 1 – 3 years    (D) 1 – 18 months  

45- fuEu esa ls dkSu Hkkjr esa jktdks"kh; uhfr rS;kj djrk gS \ 

 (A) ;kstuk vk;ksx    (B) foÙk ea=ky; 

 (C) foÙk vk;ksx    (D) Hkkjrh; fjtoZ cSad 

 In India which one of the following formulates the Fiscal Policy ? 

 (A) Planning Commission  (B) Ministry of Finance 

 (C) Finance Commission  (D) Reserve Bank of India 

46- nwjlapkj {ks= esa izR;{k fons’kh fuos’k ¼FDI½ dh lhek 74 izfr’kr ls c<+kdj fdruh dj nh 

xbZ gS \ 

 (A) 80 izfr’kr    (B) 83 izfr’kr 

 (C) 90 izfr’kr    (D) 100 izfr’kr 

 FDI limit in Telecom Sector has been increased from 74% to – 

 (A) 80 %     (B) 83 % 

 (C) 90 %     (D) 100 %  
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47- cgqjk"Vªh; fuxe fuEu esa ls fdlds ek/;e ls oSf’od cktkjksa esa izos’k djus esa lQy jgs 

gSa\ 

 (A) fo’o O;kikj laxBu   (B) ;wusLdks  

 (C) ;wfulsQ     (D) buesa ls dksbZ ugha 

 Multinational Corporations have succeeded in entering global markets 

through which of the following ? 

 (A) World Trade Organizatioin (B) UNESCO 

 (C) UNICEF    (D) None of these 

48- izkphudky esa ns’kksa dks tksM+us okyk izeq[k pSuy D;k Fkk \ 

 (A) Je     (B) /keZ 

 (C) rduhd     (D) O;kikj 

 Which was the main channel for connecting countries in the past ? 

 (A) Labour      (B) Religion 

 (C) Technology    (D) Trade  

49- fdlh mRikn ij ,e-vkj-ih- (MRP) D;k n’kkZrk gs \ 

 (A) fuEure [kqnjk dher   (B) vf/kdre [kqnjk dher 

 (C) lq{e [kqnjk dher   (D) buesa ls dksbZ ugha 

 MRP on a product represents – 

 (A) Minimum Retail Price  (B) Maximum Retail Price 

 (C) Micro Retail Price   (D) None of these  
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50- fcfLdV ds iSdsV ij mldh xq.koÙkk tk¡p ds fy, dkSu lk yksxks ;k fpà gksrk gS \ 

 (A) ,xekdZ     (B) vkbZ-,l-vkbZ-ekdZ 

 (C) gkWyekdZ     (D) vkbZ-,l-vks-ekdZ 

 Which logo or mark is seen on a biscuit packet for its quality check ? 

 (A) Agmark     (B) ISI Mark 

 (C) Hall Mark    (D) ISO Mark  

51- Hkkjr ds fy, egku foHkktu dk o"kZ D;k Fkk \ 

 (A) 1881     (B) 1821 

 (C) 1921     (D) 1971  

 Which was the year of Great Divide for India ? 

 (A) 1881     (B) 1821 

 (C) 1921     (D) 1971 

52- fovkS|ksxhdj.k us fuEu esa ls fdl Hkkjrh; m|ksx dks ,d cM+k >Vdk fn;k \ 

 (A) dks;yk     (B) gLrf’kYi 

 (C) yksgk ,oa bLikr    (D) oL= m|ksx 

 Deindustrialization caused a major set back to which of the following Indian 

industries ? 

 (A) Coal     (B) Handicrafts 

 (C) Iron and Steel   (D) Textile Industry 

53- fczfV’k Hkkjr esa igyh ckj tux.kuk dc gqbZ \ 

 (A) 1821     (B) 1868 
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 (C) 1881     (D) 1757 

 When was the first Census conducted in British India ? 

 (A) 1821     (B) 1868 

 (C) 1881     (D) 1757 

54- fVLdks (TISCO) dh LFkkiuk dc gqbZ \ 

 (A) 1917     (B) 1907 

 (C) 1926     (D) 1935 

 When was TISCO established ? 

(A) 1917     (B) 1907 

(C) 1926     (D) 1935 

55- fofuos’k ljdkj ds fy, fdl izdkj dh izkfIr gS \ 

 (A) iw¡thxr izkfIr    (B) jktLo izkfIr 

 (C) (A) ,oa (B) nksuksa   (D) buesa ls dksbZ ugha 

Disinvestment is which type of receipt for the government ? 

(A) Capital receipt   (B) Revenue receipt 

(C) (A) and (B) both   (D) None of these 

56- buesa ls fdl :Ik esa dsUnzh; cSad dk;Z djrk gS \ 

 (A) ,tsUV     (B) cSadj 

 (C) foÙkh; lykgdkj   (D) buesa ls lHkh 

In which of the following form the Central Bank functions ? 

(A) An Agent    (B) A Banker 
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(C) A Financial advisor   (D) All of these 

57- mÙkj fcgkj xzkeh.k cSad dk izk;kstd cSad dkSu gS \ 

 (A) LVsV cSad vkWQ bf.M;k   (B) iatkc us’kuy cSad 

 (C) lsUVªy cSad vkWQ bf.M;k  (D) ;wfu;u cSad vkWQ bf.M;k 

Which is the sponsor bank of Uttar Bihar Gramin Bank ? 

 (A) State Bank of India   (B) Punjab National Bank 

 (C) Central Bank of India  (D) Union Bank of India 

58- buesa ls dkSu egkjRu daiuh ugh gS \ 

 (A) dksy bf.M;k fyfeVsM   (B) jk"Vªh; rki fo|qr fuxe 

 (C) rSy ,oa izkd`frd xSl fuxe  (D) jk"Vªh; bLikr fuxe 

Which of these is not a Maharatna Company ? 

 (A) Coal India Ltd.    

(B) National Thermal Power Corporation 

 (C) Oil and Natural Gas Corporation 

 (D) Rashtriya Ispat Corporation Ltd.  

59- fo’o tula[;k dh n`f"V esa Hkkjr dk LFkku D;k gS \ 

 (A) igyk     (B) nwljk 

 (C) rhljk     (D) pkSFkk 

 What is the rank of India in terms of world population ? 

 (A) First     (B) Second 

 (C) Third     (D) Fourth  
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60- dkSu lk {ks= dPps eky dks ewY;oku mRiknksa esa cnyrk gS \ 

 (A) izkFkfed {ks=    (B) f}rh;d {ks= 

 (C) rr̀h;d {ks=    (D) buesa ls dksbZ ugha 

 Which sector transforms raw material into valuable products ? 

 (A) Primary Sector   (B) Secondary Sector 

 (C) Tertiary Sector   (D) None of these  

61- Hkz"Vkpkj /kkj.kk lwpdkad 2021 esa Hkkjr dk LFkku D;k gS \ 

 (A) 80     (B) 85 

 (C) 86     (D) 94 

 What is India’s rank in Corruption Perception Index 2021 ? 

 (A) 80     (B) 85 

 (C) 86     (D) 94 

62- 2011 dh tux.kuk ds vuqlkj ns’k esa nwljk lokZf/kd vkcknh okyk jkT; dkSu gS \ 

(A) fcgkj     (B) egkjk"Vª 

(C) vksfM’kk     (D) jktLFkku 

 Which is the second most populous state in the country according to the 

2011 Census ? 

 (A) Bihar     (B) Maharashtra 

 (C) Odisha     (D) Rajasthan  

63- Hkkjrh; jsyos dk fo’o esa dkSu lk LFkku gS \ 

 (A) igyk     (B) nwljk 



23 
 

 (C) rhljk     (D) pkSFkk 

 What is the rank of Indian Railways in the world ? 

 (A) First     (B) Second 

 (C) Third     (D) Fourth 

64- nloha iapo"khZ; ;kstuk esa 2007 rd ns’k esa fu/kZurk vuqikr ?kVkdj fdrus izfr’kr rd 

ykus dk y{; j[kk x;k Fkk \ 

 (A) 5 %     (B) 10 % 

 (C) 12 %     (D) 15 % 

 What percentage was targeted to bring down the poverty ratio in the country 

by 2007 in the tenth five year plan ? 

 (A) 5 %     (B) 10 % 

 (C) 12 %     (D) 15 %  

65- cpr dks izHkkfor djusokyk izeq[k rÙo D;k gS \ 

 (A) cpr djus dh {kerk   (B) cpr djus dh bPNk 

 (C) C;kt nj     (D) buesa ls lHkh 

 What is the main factor affecting savings ? 

 (A) Ability to save   (B) Desire to save 

 (C) Interest rate    (D) All of these  

66- jk"Vªh; vk; dk vFkZ gS & 

 (A) ljdkj dh vk;    (B) ikfjokfjd vk; 

 (C) lkoZtfud miØeksa dh vk;  (D) mRiknu ds lk/kuksa dh vk; 
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 National income means – 

 (A) Government income  (B) Family income 

 (C) Public enterprises income (D) Income of the means of production  

67- fdl iapo"khZ; ;kstuk ds nkSjku ukckMZ dh LFkkiuk gqbZ \ 

 (A) ikapoh     (B) NBh 

 (C) lkroha     (D) ukSoha 

 During which five year plan NABARD was established ? 

 (A) Fifth     (B) Sixth 

 (C) Seventh    (D) Ninth  

68- jk"Vªh; ^dke ds cnys vukt* dk;ZØe dc ykxw gqvk \ 

 (A) 1998     (B) 2001 

 (B) 2004     (D) 2006 

 When was the ‘National Food for Work’ Programme implemented ? 

 (A) 1998     (B) 2001 

 (B) 2004     (D) 2006  

69- vkfFkZd fu;kstu fdl lwph ds varxZr vkrk gS \ 

 (A) jkT; lwph    (B) leoÙkhZ lwph 

 (C) la?k lwph     (D) buesa ls dksbZ ugha 

 Economic Planning falls under which list ? 

 (A) State List    (B) Concurrent List 

 (C) Union List    (D) None of these 
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70- Ýkalhlh 'kCn ckSxsV ¼Bougette½ dk D;k vFkZ gS \ 

 (A) diM+s dk FkSyk    (B) twV dk FkSyk 

 (C) dkxt dk FkSyk    (D) peM+s dk FkSyk 

 What is the meaning of French Word ‘Bougette’ ? 

 (A) Cloth bag    (B) Jute bag 

 (C) Paper bag    (D) Leather bag 

71- ;kstuk vk;ksx }kjk fdruh iapo"khZ; ;kstukvksa dk fØ;kUo;u fd;k x;k \ 

 (A) ckjg     (B) X;kjg 

 (C) iUnzg     (D) nl 

 How many five year plans were implemented by the Planning Commission ? 

 (A) Twelve     (B) Eleven 

 (C) Fifteen     (D) Ten 

72- Hkkjr dh igyh tula[;k uhfr dh ?kks"k.kk dc gqbZ \ 

 (A) vizSy 1952    (B) vizSy 1976 

 (C) Qjojh 2000    (D) twu 1995 

 When was India’s first Population Policy announced ? 

 (A) April 1952    (B) April 1976 

(C) February 2000   (D) June 1995 

73- fuEu esa ls dkSu fcek: ¼BIMARU½ izns’k ugha gS \ 

 (A) egkjk"Vª     (B) e/; izns’k 

 (C) mÙkj izns’k    (D) fcgkj 
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 Which of the following is not a BIMARU state ? 

 (A) Maharashtra    (B) Madhya Pradesh 

 (C) Uttar Pradesh   (D) Bihar 

74- fuEu esa ls dkSu lektoknh vFkZO;oLFkk gS \ 

 (A) vkWLVªsfy;k    (B) vesfjdk 

 (C) ikfdLrku    (D) blesa ls dksbZ ugha 

 Which of these is a socialist economy ? 

 (A) Australia    (B) America 

 (C) Pakistan    (D) None of these 

75- cM+s vkS|ksfxd miØeksa ds fuekZ.k] foLrkj ,oa e’khuksa ds uohuhdj.k ds fy, dkSu cSad _.k 

nsrh gS \ 

 (A) vkS|ksfxd cSad    (B) lgdkjh cSad 

 (C) izkFkfed lgdkjh lfefr  (D) Hkwfe fodkl cSad 

 Which bank provides loans for construction, expansion and modernization 

of machines of big industries. 

 (A) Industrial Bank   (B) Cooperative Bank 

 (C) Primary Cooperative Society (D) Land Development Bank 

76- pkyw [kkrk ds tek ij cSad fdruk C;kt nj nsrk gS \ 

 (A) fuEu     (B) mPp 

 (C) 'kwU;     (D) e/;e 
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 What rate of interest is given by banks on Current Account deposits ? 

 (A) Low     (B) High 

 (C) Zero     (D) moderate 

77- buesa ls fdl vkfFkZd fØ;k dks r`rh;d {ks= esa 'kkfey djrs gSa \ 

 (A) lapkj     (B) cSafdax 

 (C) O;kikj     (D) buesa ls lHkh 

 Which of these activities is included in Tertiary sector ? 

 (A) Communication    (B) Banking 

 (C) Trading     (D) All of these 

78- Hkkjr esa twV dk lokZf/kd mRiknu djus okyk jkT; dkSu gS \ 

 (A) if’pe caxky    (B) fcgkj 

 (C) vksfM’kk     (D) >kj[kaM 

 Which state is the largest producer of jute in India ? 

 (A) West Bengal    (B) Bihar 

 (C) Odisha     (D) Jharkhand 

79- d`f"k mRiknksa ds ekudhdj.k ds fy, fdl ekud dk iz;ksx fd;k tkrk gS \ 

 (A) vkbZ- ,l- vkbZ    (B) vkbZ- ,l- vks- 

 (C) ,xekdZ     (D) gkWyekdZ 

 Which standard is used for standardization of agricultural products ? 

 (A) ISI     (B) ISO 

 (C) Agmark     (D) Hall mark 
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80- Hkkjr esa lwpuk dk vf/kdkj vf/kfu;e dc ikfjr gqvk \ 

 (A) vDVwcj 2005    (B) vizSy 2003 

 (C) ekpZ 2001    (D) uoacj 2007 

 When was the Right to Information Act passed in India ? 

 (A) October 2005    (B) April 2003 

 (C) March 2001    (D) November 2007 

81- fuEu esa ls dkSu lapkj lsokvksa dk vax gS \ 

 (A) lekpkj i=    (B) VsyhQksu 

 (C) Vsyhfotu    (D) buesa ls lHkh 

 Which of these is a part of communication ? 

 (A) Newspaper    (B) Telephone 

 (C) Television    (D) All of these 

82- fdl vk;q oxZ ds cPpksa dks fu%’kqYd ,oa vfuok;Z f’k{kk nsuk jkT; dk nkf;Ro gS \ 

 (A) 4 & 15 o"kZ    (B) 6 & 14 o"kZ 

 (C) 7 & 12 o"kZ    (D) 8 & 16 o"kZ 

 It is responsibility of the state to provide free and compulsory education to 

the children of which age group ? 

 (A) 4 – 15 years    (B) 6 – 14 years 

 (C) 7 – 12 years    (D) 8 – 16 years 

83- iw¡th fuekZ.k fdlds }kjk gksrk gS \ 

 (A) miHkksx }kjk    (B) cpr }kjk  
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 (C) fuos’k }kjk    (D) fofue; }kjk 

 Capital formation is done by – 

 (A) Consumption    (B) Saving 

 (C) Investment    (D) Exchange 

84- Hkkjr dh izeq[k vkfFkZd leL;k D;k gS \ 

 (A) vf’k{kk     (B) ySafxd vlekurk 

 (C) csjkstxkjh     (D) buesa ls lHkh 

 What is the major economic problem of India ? 

 (A) Illiteracy    (B) Gender Inequality 

 (C) Unemployment   (D) All of these 

85- Hkkjr esa jk"Vªh; miHkksDrk fnol dc euk;k tkrk gS \ 

 (A) 1 twu     (B) 15 ekpZ 

 (C) 8 ekpZ     (D) 24 fnlacj 

 When is National Consumer Day Celebraed in India ? 

 (A) 1st June     (B) 15th March 

 (C) 8 March    (D) 24th December 

86- bVyh dh eqnzk D;k gS \ 

 (A) yhjk     (B) ;wjks 

 (C) MkWyj     (D) ikmaM 

 What is the Currency of Italy ? 

 (A) Lira     (B) Euro 
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 (C) Dollar     (D) Pound 

87- GATT ds vkBosa nkSj dk ifj.kke D;k Fkk \ 

 (A) GATT ds dk;Z {ks= dk foLrkj (B) WTO dh LFkkiuk 

 (C) WTO dk lekiu   (D) buesa ls dksbZ ugha 

 What was the result of the eighth round of GATT ? 

 (A) Expanding the scope of GATT (B) Establishment of WTO 

 (C) End of WTO    (D) None of these 

88- Hkkjr esa jk"Vªh; vk; leadks dk vkdyu fdlds }kjk fd;k tkrk gS \ 

 (A) ;kstuk vk;ksx    (B) Hkkjrh; fjtoZ cSad 

 (C) foÙk ea=ky;    (D) dsUnzh; lkaf[;dh laxBu 

 The National Income data in India is assessed by – 

 (A) Planning Commission  (B) Reserve Bank of India 

 (C) Ministry of Finance   (D) Central Statistical Organization 

89- fuEu esa ls dkSu lk jkT; Hkkjr ds ldy ?kjsyw mRikn esa lokZf/kd ;ksxnku nsrk gS \ 

 (A) egkjk"Vª     (B) mÙkj izns’k 

 (C) xqtjkr     (D) fcgkj 

 Which state contributes the most to India’s GDP ? 

 (A) Maharashtra    (B) Uttar Pradesh 

 (C) Gujarat     (D) Bihar 

90- fuEu esa ls dkSu lk dj izR;{k dj dh Js.kh esa ugha vkrk gS \ 

 (A) vk;dj     (B) fuxe dj 
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 (C) th-,l-Vh-    (D) lEink 'kqYd 

 Which of the following is not included under the category of direct tax ? 

 (A) Income Tax    (B) Corporate Tax 

 (C) GST     (D) Wealth Tax 

91- dsUnzh; vuqnkuksa ds iz;kstu ds fy, fuEu esa ls dkSu lk jkT; fo’ks"k Js.kh dk jkT; gS \ 

 (A) vle     (B) if’pe caxky 

 (C) dsjy     (D) jktLFkku 

 Which one of the following is a special category state for the purpose of 

central grants ? 

 (A) Assam     (B) West Bengal 

 (C) Kerala     (D) Rajasthan 

92- fdl jkT; esa ^fo’ks"k vkfFkZd {ks=* (SEZ) ugha gS \ 

 (A) egkjk"Vª     (B) fcgkj 

 (C) xqtjkr     (D) mÙkj izns’k  

 Which stae does not have a ‘Special Economic Zone’ ? 

 (A) Maharashtra    (B) Bihar 

 (C) Gujarat     (D) Uttar Pradesh 

93- buesa ls dkSu lk cSad fu;kZr&vk;kr esa yxs O;olkf;;ksa dks lgk;rk iznku djrk gS \ 

 (A) lgdkjh cSad    (B) dsUnzh; cSad 

 (C) EXIM cSad    (D) ukckMZ 
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Which of these banks provides assistance to the businessmen engaged in 

export-import? 

(A) Cooperative Bank   (B) Central Bank 

(C) EXIM Bank    (D) NABARD 

94- lkekU; n’kk esa oLrq dh dher esa òf) dk mldh ek¡x ij D;k izHkko iM+rk gS \ 

 (A) ek¡x ?kVrh gS    (B) ek¡x c<+rh gS 

 (C) ek¡x vizHkkfor jgrh gS   (D) buesa ls dksbZ ugha 

 What is the effect of an increase in the price of a commodity on the demand 

under normal conditions ? 

 (A) Demand decreases  (B) Demand increases 

 (C) Demand remains constant (D) None of these 

95- tux.kuk 2011 ds vuqlkj Hkkjr dk lokZf/kd rst tula[;k òf) okyk jkT; dkSu gS \ 

 (A) es?kky;     (B) fcgkj  

 (C) mÙkj izns’k    (D) v#.kkpy izns’k 

 According to Census 2011 which state has the fastest population growth 

rate in India ? 

 (A) Meghalaya    (B) Bihar 

 (C) Uttar Pradesh   (D) Arunachal Pradesh 

96- vuqla/kkudrkZ }kjk Lo;a ladfyr fd, x, vk¡dM+s D;k dgykrs gSa \ 

 (A) izkFkfed vk¡dM+s     (B) f}rh;d vk¡dM+s 

 (C) izdkf’kr vk¡dM+s    (D) buesa ls dksbZ ugha 



33 
 

 The data collected by the researcher himself are called – 

 (A) Primary data    (B) Secondary data 

 (C) Published data   (D) None of these 

97- ^eujsxk* fdlus ykxw fd;k \ 

 (A) foÙk ea=ky;    (B) ekuo lalk/ku fodkl ea=ky; 

 (C) f’k{kk ea=ky;    (D) xzkeh.k fodkl ea=ky; 

 Who implemented ‘MGNAREGA’ ? 

 (A) Ministry of Finance    

(B) Ministry of Human Resource Development 

(C) Ministry of Education 

(D) Ministry of Rural Development 

98- fuEu esa fdldh iwfrZ ds fy, ljdkj vkfFkZd lgk;rk nsrh gS \  

 (A) [kkn     (B) fctyh 

 (C) jlksbZ xSl    (D) buesa ls lHkh 

 The government gives subsidy for the supply of which of these items ?  

 (A) Fertilizer    (B) Electricity 

 (C) Kitchen gas    (D) All of these 

99- tek dh xbZ jkf’k ls vf/kd /ku fudkyus dks D;k dgrs gSa \ 

 (A) vfxze      (B) _.k 

 (C) vksojMªk¶V    (D) vuqnku 

 Withdrawal of money greater than amount deposited is known as - 
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 (A) Advance    (B) Loan 

 (C) Overdraft    (D) Subsidy 

100- Hkkjr esa gfjr Økafr ykus dk Js; fdUgsa fn;k tkrk gS \ 

 (A) ,e- ,l- LokehukFku   (B) oxhZl dqfj;u 

 (C) ukWjeu cksjykWx    (D) Vh- ckyd`".ku 

 Who is credited for bringing Green Revolution in India ? 

 (A) M. S. Swaminathan  (B) Verghese Kurien 

 (C) Norman Borlaug   (D) T. Balakishnan 

Section-B 

Short Answer Type Questions 

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions. Each 

question carries 2 marks.        (15x2=30) 

1- iw¡thooknh vFkZO;oLFkk ls D;k vfHkizk; gS \      2 

 What is meant by Capitalist economy ? 

2- izkFkfed {ks= esa fdu vkfFkZd fØ;kvksa dks 'kkfey djrs gSa \    2 

 What economic activities are included in Primary Sector ? 
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3- ek¡x ds fu;e ds dksbZ nks viokn crkb,A       2 

 State two exceptions of Law of Demand. 

4- izFke iapo"khZ; ;kstuk esa d`f"k dks izkFkfedrk D;ksa nh xbZ \    2 

 Why was agriculture given priority in the first five year plan ? 

5- lesfdr xzkeh.k fodkl dk;ZØe dk mís’; Li"V djsaA     2 

 Explain the purpose of Integrated Rural Development Program. 

6- d`f"k chek dh vko’;drk D;ksa gksrh gS \       2 

 Why is agriculture insurance needed ? 

7- ljdkjh miØe ls D;k vfHkizk; gS \ ljdkjh miØe ds nks mnkgj.k nhft,A 2 

 What is meant by government enterprise ? Give two examples of 

government enterprise. 

8- ykxr izsfjr eqnzkLQhfr ls vki D;k le>rs gSa \      2 

 What do you understand by cost-push inflation ? 

9- ek¡x dh yksp ls D;k vfHkizk; gS \        2 

 What do you mean by elasticity of demand ? 

10- izkFkfed vkSj f}rh;d vkadM+ksa esa vUrj Li"V djsaA     2 

 Differentiate between Primary and Secondary data. 

11- vkf/kD; dk ctV D;k gksrk gS \       2 

 What is surplus budget ? 

12- ekuo lalk/ku esa fuos’k dh vko’;drk D;ksa iM+rh gS \     2 

 Why investment in human resources is needed ? 
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13- ldy ?kjyw mRikn ls vki D;k le>rs gSa \     2 

 What do you understand by Gross Domestic Product ? 

14- Hkkjrh; d`f"k dh fuEu mRikndrk dks c<+kus ds pkj mik; crkb,A   2 

 Mention four ways to increase the low productivity of Indian agriculture. 

15- dksj cSafdax iz.kkyh D;k gksrh gS \       2 

 What is core banking system ? 

16- oS’ohdj.k dks ifjHkkf"kr djsaA       2 

 Define globalization. 

17- ek¡x dh yksp ekius dh fof/k;ksa ds uke crkb,A     2 

Name the methods of measuring elasticity of demand. 

18- O;kikfjd cSad ls vki D;k le>rs gSa \      2 

 What do you understand by commercial bank ? 

19- jktLo O;; vkSj iw¡thxr O;; esa D;k vUrj gS \     2 

 What is the difference between Revenue expenditure and Capital 

expenditure? 

20- vk; esa òf) gksus ij ek¡x ij D;k izHkko iM+rk gS \     2 

 What is the effect of increase in income on demand ? 

21- eqnzk ds izkFkfed dk;Z crkb,A       2 

 State primary functions of money. 

22- iwfrZ ls D;k vfHkizk; gS \        2 

What is meant by Supply ? 
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23- ewY; ek¡x dh yksp dh Jsf.k;k¡ crkb,A      2 

 State the degrees of Price elasticity of demand. 

24- csjkstxkjh dk lekt ij D;k izHkko iM+rk gS \     2 

 What is the effect of unemployment on society ? 

25- dqVhj m|ksx D;k gksrs gSa \        2 

 What are cottage industries ? 

26- vkfFkZd vk/kkfjd lajpuk D;k gksrh gS \      2 

 What is economic infrastructure ? 

27- lgdkfjdrk ds vk/kkjHkwr fl)kar D;k gSa \     2 

 What are the basic principles of cooperative ? 

28- ekuo fodkl lwpdkad ds ?kVd crkb,A      2 

 Mention the components of Human Development Index. 

29- dj dks ifjHkkf"kr djsaA        2 

 Define tax. 

30- lkewfgd d`f"k ls D;k vfHkizk; gS \       2 

 What is menat by Collective Farming ? 

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA         (4x5=20) 
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Question nos. 31 to 38 are Long Answer Type Questions. Answer any 4 of them. 

Each question carries 5 marks.       (4x5=20)  

31- oS’ohdj.k dk fcgkj ij iM+s izHkkoksa dks crkb,A      5 

 State the effects of globalization on Bihar. 

32- vFkZO;oLFkk dh lajpuk ls D;k le>rs gSa \ bls fdrus Hkkxksa esa ck¡Vk x;k gS \ 5 

What do you understand by the structure of economy ? In how many types it 

is divided ? 

33- Hkkjrh; iapo"khZ; ;kstukvksa esa viuk;h x;h vkfFkZd uhfr;ksa dh eq[; fo’ks"krkvksa dk o.kZu 

dhft,A           5 

Describe the main features of the economic policies adopted in the Indian 

Five Year Plans. 

34- Hkkjr esa d`f"k ds fiNM+siu ds mÙkjnk;h dkj.kksa dh O;k[;k dhft,A   5 

Explain the reasons responsible for the backwardness of agriculture in 

India. 

35- vFkZO;oLFkk dh vk/kkjHkwwr leL;k,¡ D;k gSa \ o.kZu dhft,A    5 

 What are the basic problems of the economy ? Explain in detail. 

36- ljdkj }kjk fu/kZurk mUewyu ds fy, mBk, x;s izeq[k iz;klksa dk o.kZu dhft,A 5 

 Describe the major efforts taken by the government to eradicate poverty. 

37- tSfod d`f"k D;k gS \ ikjEifjd d`f"k ls ;g dSls Js"B gS \    5 
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What is Organic Agriculture ? How is it better than Conventional 

Agriculture? 

38- ekuo iw¡th D;k gS \ ekuoh; iw¡th fuekZ.k ds L=ksr crkb,A    5 

 What is Human Capital ? State the sources of Human Capital Formation. 


